PR LR RIS R

1 A& REEEFFK 7 — 0 PEHEIE55ER
51kg#k NI ER QF)[vSU 4 — 0 HWh BB 2F)
bbkg#hk BEH —4% J0F)|(SU 4 — 0 WASKE GF)
60kg R AE #KXK Q&)U 4 — 0 RE EB#f @)
65kg#k g EE (F)(VSU 4 — 0 Wl [Eik (3%F)
Tkeg#k hi BEA QF)|IVSU 4 — 0 EHTZE—BE  Q2%F)
80kg#hk BEEEKRE QF)VA 5 — 0 TE HBE (GF)
125kg#k | &% BK GHE)|WA 5 — 0 AHREEE (0F)
1 [A]Eg ERe s TR 4 — 3 SRS ES
51kg#k Mk KPR OU&E)|vSU 4 — 0 Bl H=E J0F)
bbkg#hk R ER Q%) 0 — 4 vsUl & 2E 3F)
60kg#k KE N GBFE)VSU 4 — 0 &H EX (2%)
65kg#k AT mE 05 1 — 4 vsui| E3E %)
Tkg#k XKH RIE @GH)|WVA 5 — 0 2R £ (14)
80kg#k gk EE (5 0 — 4 VSUI=K #Ik QGF)
125ke#k | ¥ K#E QF)[VA 5 — 0 2 Ef JdF)
1 [E18; SRS 3 — 4 Hli%l%,—,%%ﬁ
51kg#k nE 2 (1F)|VFA 5 — 0 A (3F)
55kg#k =15 BB Q&)|vsu 4 — 0 E a,k %)
60kg#k R H ¥ QH) 0 — 5 VRA| "R HE GHF)
65kg#k A SKE GF)|wo 3 — 1 ogE ARER (34
T1kg#k N EKRK GF) 0 — 4 VSU| ATME REA  (3%F)
80kg#k EH Bx QH) 0 — 4 vsUl Bnix XKE 35
125ke#k | A5 HE  (5F) 0 — 3 VPOl B8 1&F ()
1 A5 T2 KED Z TR 0 — 7 WEABRAFESEFR
51kg#k B X aE) 0 — 4 VU] &8 # (%)
55kg#k 2R [FE 2% 0 — 4 Vvl B A (05
60kg#k X5 #E GH) 0 — 4 VU] B BA @G5
65kg#k =2 K 08 0 — 4 VSU| KB [E#&E QF)
T1kg#k WHIEKER  (24F) 0 — 4 vsul &5 B Q2H)
80kg#k A &k Q2F) 1 — 3 wol| B £ (GH)
125ke#k | 8 Hh4&E  (2F) 0 — 4 vsUl 1ug RE  38F)
EREB TREE 1 25 AR 3 — 4 lhiﬁl%—:g%ﬁx
51kg#k NI BRK 2F) 0 — 3 VPO| @A (3%F)
55kg#k BE —4& 0f)|wn 3 — 1 HaE ﬂ-l-jc (34)
60kg#k 5E #X (02%f) 1 — 3 wi| MR HBE GH)
65kg ik 2R EE (Q4F)|wr 3 — 1 ogE ARER (34
T1kg#k h# BA Q2F) 0 — 4 VSU| ATME REA  (3%F)
80kg#k BEREXE (%) 0 — 4 vsUl Bnig XKE B8
125kgfhk | £ BK  Q@F)|wo 3 — 1 BX &F GHF)
R ERe = TR 1 — 6 WEARAFESEFR
51kg#k N L)) 1T — 4 vsui| H# VES)
55kg R AL ER Q2F) 0 — 5 VRA| BX% A (05
60kg#k KE BN GH) 0 — 3 V0| B% BA (GH)
65kg#k AT mE 05 0 — 4 VU] XA [E#& Q%)
T1kg#k AXH RIE @GF)|wot 3 — 1 Ba B 02F)
80kg#k nEE XK (05) 0 — 4 vsu| & £ (GH)
125ke#k | ¥ XKiE (%) 0 — 5 VFAl luF RE  GBH)
EX ﬂ&ﬁl%’f—,%%h 1 — 6 WEABRAFESEFR
51keg#k (3%) 0 — 5 VFA| &F T ED)
55kg#k %uEa E.,i( (2%F) 0 — 4 Vvl B A (05
60kg#k A BE (GHF) 1 — 3 woi| 2% BEA (GH)
65kg#k g A BF) 1 — 3 wo| XA [E#&E Q%)
T1kg#k BIkE BEA (BF) 0 — 3 Vpo| A B Q2F)
80kg#k gl K&E GBF)[SU 4 — 0 1Pk £ 35
125ke#k | X &F (GF) 0 — 4 vsUl 1ug RE  3H)




